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e

(i} W& 77 3pfiard 3, vy 4 @ gl i & 3 S

Note : Question No. 1 is compulsory, answer any FIVE questions from the remdining.

)

(ii) RF 577 & ¥ Y F FHER vk a5 F 1
Solve all parts of a question consecutively together

(iii) 4% J7 %} 79 98 & I Fifd |
Start each question on fresh page.

tiv) gH urIaT & = g7 #1 1Rfr 7 3 sgae @ a8

Only English version is valid in case of difference in both the lungragcs.

¢ TIOm  Teen 8 e forfan |

Wnite difference between program and algorithm.
uh sachl fores fore =1 faa gro wmems |

Explain doubly link-list with diagram.
i) T daEe & < weiteen % T fafau |

Write names of two algorithms for graph traversal.
Gv) & % foree forme wdieo t aasme |

Explain linked-list representation of tree.
(9 T R & dwam fafae |

Write applications of data structure. (2x5)

® fos fore & o9 1 @ Tl sraaa 1 gen & v venfra fafgu |
Write an algorithm to delete an clement in between from link list.
G T F y@m Fd gu d m deniodia @i sfusaty @ defeen sifrerfs o
Fger &g fafva vt awemse |
Z+(y*x-(wivau *n*s
Convert following algebraic infix expression it postiix expression by
explaining different steps using stack. ’
ZA(yTa-(wivaup¥n*§ (6x2)

(Fof2) P.T.0.
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(202) 1o
R 1 1 3 ufq whmmait #q venfren fafao |
Write algorithms for push and pop opcrations in stack
Frafefisa srfverfoat 1 it arfirsrfrrai 7 agferm
Convert following into prefix expressions :
(@) AB*-D ,
(b} (A-B/C)*(D*E-F) (3x2)

afz e aga-A & ot daa B, 1 D. A, C. G, E. H, F 71 -3
3 1.D. B. G. C. H. F. E, A 81, @ 38 a7t 1 &1 3w $ifw |

If the inorder traversal of a binary trec 1s B. L. D, A. €. G. E, H, [ and uts
preorder traversal is L. D. B, G. C, H, F. E, A. then determine the binary tree. (6)

frafafan 9 gfes =men fifqe
Explain following with diagrams :
1a) ﬁ?ﬁﬁ CEE] Eﬁ

Strict binary tree
(¥)  FHete A f

Complete binary tree
fort amt) 41 3 - 317ET, - 37781 3 - 317 dae 2 Frfda weivien fefau |

Write recursive algorithms for in-order. pre-order and post-orders traversal of

(6)

(3x2)

binary tree. (2x3)
(i) BST T &1 8 7 $8 Tordw @ M fefan |
What 1s BST ? Explain its properties and applications. (2+4)
() M & Herla s freem & fofim el i saman Sifao |
Explain different techniques for collision reduction in Hashing.
(ii) ST W USRI AHIEY |
Explain binary scarch algorithm. (6x2)
g U O UM B e B2 W A T 2 AR TeRes S ARy |
Wr‘ilc Dijkstra’s aignri_{hm for finding shoriest path i a aiven eraph.
(i) vgaE e 7 veg o= 9 s fafiae
Differcntiate between Adjacency Matrix and Adjaceney List, (6x2)
frfefae v afey fevrfrai fetfign . (i Q)
Write short notes on following - (Any two)
() qeeH-a7
Selecetion sort
(i) WRTER
Prionty Qucue
(i) TTE & WA
Applications of graph
(6x2)
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